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ﬁ C:WUsersivkhji¥DocumentsiWworkspace-sts-3.9.2.RELEASEWCover-SampleWsrcWCoverSample.java e /N
sumy 1. HA YL || EFEERE oo
sz 27| ok 2ol A=z
=3 My 4 0 S -
O SHs= =y 54.29% 50% 60% 55.56% 50%
66.67%
v o 0 ENE oz zs 7z 2
19.01-11 09:16:38 I 0% N/A N/A
ik P HAT Y 2, TFAUE 2|2 Fib HET R 3. g A2 A
oEE (%) Eadled) TE) 270%) B =Ee) UEA AMEE | |2H 2421(%%) TECE) 22106 E =E)  UEIA®) HMEE)
66.67 55.56 54.29 50 60 50 40 . o 0 o 0
CoverSample java sum (int, int) . . N/A IN/A . .
23 (5/9) (19/35) (3/6) (3/5) (172 @/9) ) ©r2) ) )
o 66.67 54,55 50 0 100 100
devide (int, int) i
12/3) (611) (/2 01y 1) )
L 60 65 50 75 3333
calculate (String, int, int) i N/A
(3/5) {13/20) (24 (3/4) 73
C:wlsersWkhjwDocumentswworkspace-sts-3.9.2. RELEASEWCover-SampleWsrcéCoversample. java ASCI v

=

:

public class CoverSample {

public int calculate (String op, int left, int right) {
if (op.equals("sum™)) {

N L B

I
else if (op.equals("devid="}) {
9 return devide (left, right):

14 private int sum(int left, int right) {
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He
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= IFO Yl B2 oA, 0|3, D|23Y T2 AATEO| 2t H HHZ|X| HEHE 2|0|5t1 21| BiFMO = HA|E
= IR0 2% 23, True Y, False 22 27120 £ HEHE 2|0[5t1 A 201 LZ0f| EAIE
= O|E S0 of2f o2 5EHmY 24012 BHH0| SIQHHO|B 2 2folo| = RT3l El ZiS 2l0fgt
= 2221012 False 23 212 BT 21012 227t False 22T 23 El 212 2|0[%
CUserswWkhjwDocumentsWworkspace-sts-3.9.2. RELEAS EWCover-SampleisrcWCoverSample.java ASCI v g @
= B =5True False) 23 B zc=c
25 4 True £ © Ha 22
B ossE @ ralse = - 7 el
O+ o4
: public class CoverSample |
: publiec int calculate(String op, int left, int right) {
if{op.equals("sum")} {
. return sum(left, right);
G n ilse if{op.eguals("dewvide™)) {
9 return devide(left, right);
4 }
L . retumn i
l_ i
private int sum(int left, int right) {
. return left + right:
i
1& private int devide (int left, int right) throws IllegalArgumentException {
19 if{right == 0} {
20 . throw mew IllegalirgumentExceptien("Divisicn by zere'):
;E i\eturn left / right;
3 i
I;
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Of2h oi||oll= & 37H2| g2t EXHSEL, 2907t 2HE[0] 66.67% (2/3) L2 AHittE

EEE w200 2000 FRe0  #en TLEF asae anse wew Bocy  FEGH  2re B+ Se WEAG) WS
i 66.67 55.56 54.29 50 60 50 40 sum (int, int) o o e e o o
2 (2/3) (5/9) {19/35) (3/8) (3/5) (1/2) (2/5) /1) (/4 /1) /1)
66.67 54.55 50 o 100 100
devide i
evide (nt, int (2/3) (6/11) (/2) @1y (/) (/)
calculate (String, int, int) 60 65 50 75 WA 33.33
i (3/5) {13/20) (2/4) 3/4) (1/3)
C:WUserswkhjwDocumentsWworkspace-sts-3.9.2. RELEASEWCover-SampleWsrcWCoverSample java ASCH r g

public class CoverSample |

public int calculate(String op,
if(op.eguals{"sum"}) |

int left, int right) {

else if {op.equals("devide")) {
return devide(left, right):

private int sum({int left, int right) {

wn

private int devide (int left, int right) throws IllegalfArgumentException {
if{right == 0] !

i
return left / right;
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Coversample;j 66.57 55. 54.29 50 60 50 0| ot ind 0 A WA 0 0
e (2/3) (5;5;1 (19/35) (3/6) 3/5) (1/2) (@/5) ol /%) /1) /1)
66.61 54.55 50 0 100 100
devide (int, i
SR (23} (5/11) (1/2) /1) (1/1) (1/1)
calculate (String, int, int) 65 50 75 A 33.33
s (3§I [13/20) @4 3/4) (1/3)
C:WUserswkhjwDocumentsWworkspace-sts-3.9.2. RELEASEWCover-SampleWsrcWCoverSample java ASCI r g

public class CowverSample |

public int calculatce(String op,
if(op.eguals({"sum"}) |

int left, int right) {

else if ({op.equals("devide")) {
return devide (left, right):

private int sum({int left, int right) {

wn

if (right 0y |
i
return left / right;

private int devide(int left, int right) throws IllegalfArgumentException {
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EEE w200 | 2000 |70 w00 FEEF asacy auseo wew gogy | FEes =700 w4 SBee WEAG)  BWASE
ik 66.67 55.56 54.29 50 60 50 40 sum (int, int) o o e e o o
e (2.-"3' (5/9) (19/35) (3/8) (3/5) (1/2) (2/5) /1) (/4 /1) /1)
66.67 54.55 50 o 100 100
devide i

evide (it i) (2/3) (6/11) (1/2) @) (/) (/)
calculate (String, int, int) 60 65 50 75 WA 33.33
i (3/5) {13/20) (2/4) (3/4) (1/3)

C:WUserswkhjwDocumentsWworkspace-sts-3.9.2. RELEASEWCover-SampleWsrcWCoverSample java ASCI

1

2 public class CowverSample |

3

4 public int calculate(String op, int left, int right) {
if(op.eguals({"sum"}) |

1

=3 else if ({op.equals("devide")) {

9 return devide (left, right):

10 1

1 S

12 1

13

14 private int sum({int left, int right) {

© return lefs + rigns;

16 1

17

18 private int devide(int left, int right) throws IllegalfArgumentException {
193 if(right == 0] !

© throw new IllegalArgumencException("Division by zero”);
21 1

22 return left / right;

23 1

24 1
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C:WUserswkhjwDocumentswworkspace-sts-3.9.2 RELEASEWCover-SampleWsrcCoversample. java ASCI v ‘-
& B ==(rue, False) 3 B == ==
BE 2 True $=3 e HY o
B oz [ False =3 = B3 2ol
O4E oy
2 public class CowverSamples |
3
4 public int calculate (String op, int left, int right) {
5 if (op.eguals("sum")})} {
7 J
E else if (op.eguals("dewvide")) |
g return devide (left, right):
10 }
. retumo;
12 }
13
14 private int sum{int left, int right) {
© retum left  rightu
14 }
18 private int dewvide (int left, int right) throws IllegalfrgumentException {
191§ if(right == 1) {
© throw new IllegalArgunencException("Division by zero");
21 I
22 return left / right:
23 +
24 1
25

=/
SuresoftP



Software for Safe World ‘ PYRIGHT Suresoft Technolog \LL RI
4) 23] AHui2|x

= if, for, while, switch St 22 27|2 & MM &l AldH 27|9| HH2|X| S LIEHY
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e 66.67 55.56 54, 50 60 50 40 (int, int) o o A o o
CoverSample, sum (int, i
= 2/3) (5/9) (19.-"5‘2;1 (3/6) (3/5) (1/2) (2/5) /1) [ /1) /1)
i . 56.67 54,5 50 0 100 100
devide (int, int)
(2/3) &M11y (1/2) /1) (1/1) (1/1)
Iculate (String, int, int) 60 & 50 75 A 3333
calculate (String, int, i
s (3/5) {13/204 (2/4) (3/4) (1/3)
=
C:WUserswkhjwDocumentsWworkspace-sts-3.9.2. RELEASEWCover-SampleWsrcWCoverSample java ASCI r g

public class CowverSample |

public int calculace(String op, int left, int right) {
if(op.eguals({"sum"}) |

i
else if {op.equals("devide"))
return devide (left, right):

(1] }
 retumo;

1z }
13
14 private int sum({int left, int right) {

& j

private int devide(int left, int right) throws IllegalfArgumentException {
if(right == 0] !

i

return left / right;
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C:WUserswkhjwDocumentsiworkspace-sts-3.9.2.RELEASEWC over-SampleWsrcWCoverSample.java
S B =5rue Falss) =2 B @c=c
£E 2T [ true =2 © Az =

B o=z [ Fale 232 - =3l

Oj%% Cfa

2 public class CoverSamples |

4 public int calculate(String op, int left, int right) {

5 if (op.eguals("=zum")) {

7 I

= else if (op.equals("dewvide™)) {

return devide(left, right):

1 I

12 1

14 private int sum{int left, int right) {

1 }

18 private int dewvide (int left, int right) throws IllegalArgumentException {

12 @ if(right == q) |

21 Ii

22 return left / right:

23 I3

24 i
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mple' 66.67 55.56 54,29 60 50 40 sum (int, int) o o A e o o
Java (2/3) (5/9) (19/35) (3.-:] (3/5) {1/2) (2/5) (/1) (0/4) (/1) (/1)
66.67 54,55 o 100 100
devide i
evide (int, int) (2/3) {8/11) (1.:1 (/1) {1/1) {1/1)
calculate (String, int, int) & 5 5 WA 33.33
9. (3/5) {13/20) (274 (3/4) {1/3)

C:WUserswkhjwDocumentsWworkspace-sts-3.9.2. RELEASEWCover-SampleWsrcWCoverSample java

ASCH

m
T |2¥

public class CowverSample |

public int calculatce(String op,
if(op.eguals({"sum"}) |

int left, int right) {

else if ({op.equals("devide")) {
return devide (left, right):

private int sum({int left, int right) {

private int devide(int left, int right) throws IllegalfArgumentException {
if(right == 0] !

- throw new IllegalirgumentException("Division by zero”);
!

20
21
22 return left / right;
23
24
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cacluate &40l & 4712| S = FL20| EXHE

10| B4 SE TRZ I AEI0] 3/4(75%) 2R HAtE

CWUserswWkhjwDocumentsWworkspace-sts-3.9.2 RELEASEWCover-SamplesrcWCoverSample.java

pes B =50, False) 3 A =
RE 3 True £ © A2 o
W == B ralse 2= = 3 2ol

o4 O

2 public class CowverSample |

o

4 public int calculate{S5tring op, int left, int right) {

5 ifJop.equals{"sum")f} |

7 I

-3 else if fop.equals("devide")}p

g return|devide ({1eft, rignt)f:

10 1

. retum o:

2 I

13

14 private int sum{int left, int right) |

© return left + right;

16 1

17

1a private int dewvide(int left, int right) throws IllegalhrgumentException {

19 @ if (right == 0] |

~ throw new IllegalArgumentException("Division by 2erc"):

21 1

22 return left / right:

23 |

24 1
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il B EEmY DL il Eas 22T 243
T =
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ol 66.67 55.56 54.29 50 50 40 (int, int) o o o A o o
CoverSample, sum (int, i
s 2/3) (5/9) {18/35) (3/8) (3."’6‘] (/2) (2/5) @) 0/4) @) @)
i . 56.67 54,55 50 100 100
devide (int, int)
(2/3) {&11) (1/2) [l | (1/1) (1/1)
sculate (String, nt, Int) &0 65 50 7 wa 33.33
calculate (String, int, i
s (3/5) {13/20) (2/4) (3/4 (1/3)
——
=
C:WUserswkhjwDocumentsWworkspace-sts-3.9.2. RELEASEWCover-SampleWsrcWCoverSample java ASCI r I;l

public class CowverSample |

public int calculace(String op, int left, int right) {

if (op.equals ("sum"})
€ - return sum(left, zight);
i
else if (op.equals("devide™)) |
return devide (left, right):
10 1
1 S
12 1
13
14 private int sum({int left, int right) {

private int devide(int left, int right) throws IllegalfArgumentException {
if (right == 0] !

i

return left / right;
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cacluate 2~2| AL 37H2| return 20| =Xt O = 1942 AISHE|0] 1/3(33.33%) 2 AH|At=

—

i)

T =
ey ) AU TEG 2710 ET%TE AE2 () BAEQEE) | 2TY 2Hel(%6) TE0%) 220 B =) HED|(%) | BUEE)
e 66.67 55.56 54.29 50 60 40 (int, int) o o o A o
CoverSample, sum (int, i
= (2/3) (5/9) (19/35) (3/8) (3/5) (1 .-"1 (2/5) /1) (/4 o/ 11 /1)
. . 66.67 54,55 50 0 1000 100
devide (int, int)
(2/3) 811} (1/2) /1) (11 (1/1)
Iculate (String, int, int) 60 65 50 75 WA 3333
calculate (String, int, i
o (3/5) {13/20) (2/4) (3/4) (1/3)
C:WUserswkhjwDocumentsWworkspace-sts-3.9.2. RELEASEWCover-SampleWsrcWCoverSample java ASCI

public class CowverSample |

public int calculace(String op, int left, int right) {
if(op.eguals({"sum"}) |

i
else if {op.equals("devide"))
return devide (left, right):

(1] }
 retumo;

1z }
13
14 private int sum({int left, int right) {

& j

if{zight == 0} |

i

return left / right;

private int devide(int left, int right) throws IllegalfArgumentException {
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8) 124 2tol He2|x|

= O|H CHef2f Bl wato] 7 /A /=0 el 2tele| 7 Of

- AA B BHO|A O[T CHAID B mB0] A% /61 2/20tE 21012 HQ = =z 02 T

el

e Mo 2200 #2%) 20%) TT 2% geaye)ane MODC

nyy 22%) B0 Ba%) o) T 2F reao) oy MUDC iy o

(%) (%)

100 100 100 100 100 . 100 100 100 100
. 0 0 N/A N/A N/A
e wy "o owm @y M o M (a7 @y Ga (1)

EEE

D:#WProjectsWProject] WProject] Wmain.c EUC-KR v

Y b

$include <stdin.h>

1

3 int main()

4 {

3 Erintq "Eellni world! ';n"i H
e}

o

g

- printf("Hello, world!\n");

- princf("EF2IEF 0" ;

10 return 0;
11 I}
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9) w1 gt 382Ix

= O|T CHY ot B wato 27/ /322l g2l 23 018
= O Chf Rt Bl o0 27/# /=37t &2l B2 HFY0lIM 3T 82 B2

AT Ty mizs [T e
g RO W) BH%) %) ﬁf%f‘ AZE(%) AIE(%) MODC(%) B4 sMOE IR0 B 20%) ﬁf:,‘ A=2|(%) AAIE(%) MODC(%)

. 100 WA 100 100 100 WA 100 wa feing 0 100 WA 100 100 WA 100 WA
' 1204 LULAN R R E £ (1) (212) £/4) (33) (111

.
D:WProjectsWProject] WProject1 Wmain.c EUC-KR v El
A’

7t B =S 0Tue, Fale) 23 & [EEES
g2 a3 T 23 © MY
B 22=7 22 F - B2 2
£% M 0 R
1 #include <stdio.h>
2
3 int mainf{)
4 {
5 printf ("Hello, world!'\n");
i - printf ("Hello, world!'\n");
g printf ("BtAUFItvnm)
9
10 return O;
11 1
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